B B A3 28 45 AR 2 s S =&

;A &
_R&#d i3 )| =] IxEES
¥ A| MSR-1 E B B E — E A k¥ Hz
B RE B LE | B EiK BERXRRE —_
¥ BB ¥ JEC-174 79T,:60s B oEE B
79T2:0~60s
%ﬂﬁﬂ%&gz Xﬁﬁﬁﬁ791‘3!608 m g B
79X : 1s
XA BRFEFH - BRER B cC B %
xR HEHE = B ] = X B & B
B & R & | /888 XREERUSRE
& IE A R | BER—IE - A5 : 1 OMQRLE GREEED

i B E R B ERE—iE5 - A% : 2. 0KV 14
#H X R (¥ TiTHEORREERES 50
1. N8y 15 5 2
HIERSR TAV)] B R MET] W TEfELIRWC &,

2. B BB B F
4) 51 EFEERRERE (T.) [HIERHE: 6 0 s D+ 2 %LIA]
-3 E| 60 s
B F B M )
w) %52 IEMARRER (T2)  [HIEERE : BAEED+ 2 BLIN]
® T 1s] 2s| 8s| 4s|] 58| 6s 7 s 8 s| 9s
B fF & M s s s s s s
B F|10s[{20s|[30s|40s|50s|/60s] — _
B fE By [ s s s s s s| — — _
~N) vy o BEEER] YIERRE: 180 s D+ 2%LIN]
3 Bl 180 s
B E B M s
=) WEEESR (Ts) [HIEE%E: 6 0 s D+ 2 BLIN]
= EE 60 s
B {F & s
k) AR (79X) [HER®E: 0. 9~1. 5 sPA]
B j 1 s
@ R ME s

~) REIERES (MiERH#E: 6, 5+7 (n—1) sD+0. 5sPH, nikRXEEEL2RT]

A 3T BRG] B BTG G el ARG BRG]
B el 5 s s s § s $ s|| 2 22 | fE B%

3. v AERKR

FD3-1-MS TEST—M0547-&



12145
sample-2


